11.  The Government launched the Consumption Voucher Schieme in 2021 1o relieve the impact ol COVID-19 on

2022 1he Hong Kong cconomy.

Source A: Sialistical data aboul uncmploy ment rale in Hong Kong

26. Many workers in Country A emigrated to other countries. ~All the job vacancies resulting from the = Unernployment rale by previous industre
emigration were filled by unemployed people. As a result, the unemployment rate of Country A s

12 - = Refail, accommodation and
»- - foad services indusiry
A. would increase 1 7
B. would decrease V4 s+« ++ Public administration, social
C. would remain unchanged 8 7 and PF“?“‘“ SCIVICCS
D. cannot be determined A o industry
i sl ANl industries
. g g : . . 4 #Pyblic admimsiration, social
39. If there is unexpected inflation, which of the following persons will lose? 7 TS and persanal services include
3 ‘.--“"' education. human health and
A. aconsumer who used credit cards to buy goods i T social work activities. efc.
B. an employer who signed fixed nominal wage contracts with his employees 0
C. aholder of certificate of deposits - > %, 3 %,
D. aninvestor of bonds with the rate of return adjusted according to the inflation rate 49% % %

K %"%{, %% %"% %’%

Sowrce B: An extract of information about the Consumption Voucher Scheme

All Hong Kong permancent residents and new arrivals aged 18 or above, who comply with the ‘residing
in Hong Kong’™ requirement. could register o receive clectronic consumption vouchers with a otal value
of $3 000 by instalments.

Source C: Information aboul the four designated stored value [acilitics to receive the $5 000 consumplion
vouchers by instalments

Alipayl K Octopus Tap & Go WeChat Pay ITK
&>
Nl
Alipay Hx P — WeChat Pay =
Public MTR. bus, mumi | MTR, bus, ymmi Bus and mim bus None
transportation bus and ferry bus and ferry
with the above
payment [acilitics
installed
Promotions 1o 5 c-coupons First 2 million $50 awarded when C=CouUpons
consumplion registered using virinal Tap &
voucher users CUStOMETS enjoy Go Unionpay card for
$18 of stored the first transaction
value with an amount equal
10 or larger than $30




Source D: Some remunders for the Consumpuon Voucher Scheme

Consutnption vouchers cannot be used in transactions such as payments (o the governmenl (©.g. Lax),
public utilifics (c.g. clectricity charges). purchasc of financial products (c.g. insurance), and dircct
purchase from merchants located ontside Hong Kong.

There are deadlines for using consumplion vonchers.

Source E: Some views on the Consumption Voucher Scheme in Hong Kong

A housewile

I have spent mote than $35 000 as there are e-coupons [rom the stored value facility
provider. A lol of promolions in Large retail chaims and malls have also (enpled
me to consume!

g,

A former chelina
restaurant
B

)
= §

I have been laid off and have stayed home for months, No onc knows when the
travellers would be back. 1 hope that the Consumption Voucher Scheme will bring
more Jocal people 1o spend on food and beverage and the whole industry can
survive the pandemic,  Otherwise, many workers will be forced to lcave the
industry.

A doctor working in
# public hospili]

Resources should be allocated to the medical sector. instead of giving everyvone an
cqual amount under the Consumiption Voucher Scheme.  The public hospitals
lacked space. manpower and equipment even before the pandemic, Start building
new hospitals earlier so that more lives could be saved.

(a)

)

(c)

()

Refer to Source A

(i) In which phasc of business cyele the Hong Kong cconomy most likely was? Aparl [rom the
change inunemplovment rate, list ONFE other economic phenomenon of this phase. (2 marks)

{i1) Why did the unemployment fate of retail. accommodation and food services indusiry increase
faster han (hit of public adminisiralion. social and personal services industry duning the
pandemic? (2 marks)

Refer 1o Source B, Would the §5 000 distnbuted under the Consumption Voucher Scheme be included
in the calculation of government consumption expenditure? Explain your answer, (2 marks)

Bascd on the information given in Source C, explain with TWO rcasons why the market of stored
value faciliues in Long Kong is NOT perfectly competitive. (4 marks)

Referto Source . Some citizens claimed, ‘T would rather recerve $3 000 cash instead of consumption
vouchers.” 1n terms of functions of money. explain such a claim with TWO reasons. {4 marks)

For part (e). candidates are required to present their answers in essay form. Criteria for marking wull include
use of sources and cconomic theories. relevant contenl, Togical presentation and clarity of expression.

{e) Suppose the Government plans to spend another sun of money o cope with the pandemic. The
following arc (wo suggeslions.

Scheme C | Distribute the sum of money using the same mechanism as the existing Consumption
Voucher Scheme.

Scheme L1 | Spend the sum of money on building new hospitals and hiring additonal medical
stall.

With reference 1o the above sources and vonr own knowledge in Economics. discuss which scheme
the Government will prefer in order to achieve FACH of the following policy objectives respectively.

Objective 1:  to relieve unemployvment in an industry severely allected by the pandemic

Objective 20 1o increase average labour produclivily
Objective 3 to increase aggregate output (in the short run and/or in the long run)

(14 marks)
|Usc a scparate paragraph for comparing the cllects of the two schemes under cach policy objective. |
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SECTION 2: MACROECONOMIC PROBLEMS
2.1 'UNEMPLOYMENT

Multiple Choice Questions

1994/CE/I/37
Which of the following people would be classified as ‘unemployed’ in Hong Kong?

A, Jack, aged 30, who has retired after winning the Mark Six

B.  Peter, aged 14, who cannot find a job after completing Form three

C.  Jobhn, who has quit his job and has gone on a trip to Europe

D.  Mary, who lost her job five weeks ago and has been looking for a new job for one month
1995/CEAL/37

Which of the following are the possible fosses to society caused by unemployment?

(1) loss of output

(2) ahigher crime rate

(3) agreater expenditure in public assistance
(4) areduction in the government’s tax revenue

A.  (l)and (2) only
B. (1)and (3) only
C.  (2)and (4) only
D. (3)and (4) only
1996/CE/11/33

David has quit his job for two months because he has been ill and is resting in bed. According to the Hong Kong
government, he is

A, unemployed.

B. underemployed.

C.  employed.

D. not in the labour force.
1997/CE/1/26

Study the following data about Hong Kong in a certain year:

Number of Persons
Employed Population 2 931 000
Underemployed Population 33 000
Unemployed Population 69 000
The unemployment rate is
A 22T%
B. 230%
C. 3.36%
D. 3.40%
59
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1997/CE//55
An increase in the number of Form 7 graduates studying in the universities will result in

(1) adecrease in the present tabour supply.
(2) adecrease in the present unemployment rate.
(3) anincrease in future average labour productivity.

A. (1) and (2) only
B. (1)and(3) only
C. (2)and (3) only
D. (1),(2)and 3)
1998/CE/11/24

Which of the following are included in the calculation of the labour force of Hong Kong?

(1) an employee with a foreign nationality working in a law firm in Hong Kong
(2) Mr Chan, who is unemployed and searching for a job
(3)  Mr Wong, who works as a volunteer in a community centre after his retirement

A, (1)and (2) only
B. (1)and(3) only
C. (2)and (3) only
D. (1),(2)and (3)
1998/CE/11/28
If some Hong Kong residents who emigrated return to Hong Kong to fill up some posts which have been vacant for a long
time, then Hong Kong’s labour force would and here unemployment rate would
A, incresse fall
B, decrense fail
C.  mncrease rise
D.  decrease . 1ise
1699/CE//32

Many imported workers who had stayed in Hong Kong several years working on the new airport project, have gone back to
their home countrics. What will be the effect of their departure on the unemployment rate in Hong Kong?

The unemployment rate will increase.

The unemployment rate will decrease.

The unemployment rate will remain constant.
The effect cannot be determined.

gow>

60

Miczoeconiorics by Tepie
2. Unemployment & Inflaton

2002/CEM/29

Number of Persons
Population aged 15 or above 10 600 000
Employved population 6 800 000
Unemploved population 1,200 000
Underemployed population 800 000

According to the above table, which of the following statements is/are correct?

(1) The labour force amounts to 8 000 000.
(2) The underemployment rate is 10%.
(3) The unemployment rate is 12%.

A, (3)only

B. (1)and (2)only

C. (1)and (3) only

D. (2)and (3) only
2002/CE/T1/31

Which of the following are possible losses to a society caused by unemployment?

(1) more government spending on public security due to a higher crime rate
(2) more unemployment assistance given by the government

(3) lower output level

(4) lower cost of living

A, (1)and (3) only
B.  (2)and (4) only
C. (1), (2)and (3) only
D (2),(3)and (4) only
2003/CE/11/30
Study the following data about Hong Kong in the period of July 2002 to September 2002.
Number of Persons
Employed Population 3 243 000
Underemployed Population 101 000
Unemploved Population 267 000

The unemployment rate in the period is

A 7.4%
B. 7.6%
C. 82%
D 102%
2004/CE/11/33
Number of Persons
[ Employed population 18 400
| Unemploved population 1 600

Now there are 1 000 additional job seekers in the econamy. If $0% of them succeed in finding a job, the unemployment rate
A, will increase.
B. will decrease.

C.  will remain unchanged.
D. may increase or decrease.

61
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2005/CE/11/32

Population

Aged 15 or above 10 000 000
Employed 6 800 000
Unemployed 1 200 000
Underemployed 1 600 000

According to the above data,

A, the total labour force is 9 600 000.

B.  the underemployment rate is 20%.

C.  the unemployment rate is 12.5%.

D.  the unemployment rate is 16%.
2006/CE/11/30

Suppose the unemployed population of an econamy is 500 000 while the unemployment rate is 5%. The employed
population is

A. 500000

B. 1000000

C. 9500000

D. 10000 000
2007/ CENLB0

Unemployment is costly to society because

A the employed will pay more tax.
B.  the potential GDP will fall,
C.  the real output of the economy will fall
D. unemployment benefit is a burden to society.
2008/CE/11/30
Study the following figures of an economy.
Number of Persons
Unemployed 20 000
Under-employed 60 000
Employed 480 000
Persons aged 15 or above 1 000 000

The unemployment rate of the economy is

A 2.0%
B. 37%
C. 40%
D. 417%
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Labour force (persons)

600 000

Unemployment rate

10%

Underemployment rate

3%

According to the above information on an economy,

A. the population aged 15 or abave is 600 000.

B. the employment rate is 85%.

C. the employed population is 540 000.

D. the number of unemployed takes up 10% of the population.
2010/CE/11/32

Below are the employment figures of a country.

Number of Persons

[ Employment 18 000
| Unemployment 2 000
Suppose there are new job seckers entering into the labour market after graduation but only 85% of them succeed in finding

1 jub. The unemployment rate

A, will increase

B.  will decrease

C.  will remain unchanged

D. may increase or decrease
2012/DSE//24

Many Hong Kong construction workers stay in Macau to work for several years. If they are attracted by the job opportunities
offered by new infrastructure projects in Hong Kong and return to seek jobs, what will be the effect on the unemployment

rate in Hong Kong?

A, The unemployment rate will increase.

B. The unemployment rate will decrease.

C.  The unemployment rate will remain unchanged.

D.  The effect on the unemployment rate cannot be determined.
2016/DSE/1/25

Which of the following will reduce the unemployment rate of a country?

Some university graduates join the labour force.

Some unemployed workers give up seeking jobs.
The government increases unemployment benefits.

onw

2017/DSE/N/27

Some factories move to a neighbouring country with lower labour cost.

If some second-generation of Hong Kong permanent residents returned to Hong Kong to fill up the posts which have been

vacant for a long time, Hong Kong's labour force would

63

A, rise ... remain unchanged
B. rise... fall
C.  fall ... remain unchanged
D. fall ., fall
f ) ; ’ “ o
J | . J \ ) . 3

and the unemployment rate would

=
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The following table shows tha data of an economy, Short & Stryctured Questions

Population aged 15 or abave 6500000
Labour forco participation rate* 60% 1994/CE/1/10(a)(3)
Ewploysd population 3780000 What losses to an economy are caused by unemployment? Give TWO of them. (4 marks)
Underentployed population - 100000
*Labour force participation rate = proportion of labour furce in population aged 15 or above 1995/CEN/G
Based on tho sbove dats, the - rate of the is | Every summer, many school leavers start to look for jobs and this affects the unemployment rate in September. Explain why
iy the rate may increase or decrease. {5 marks)
A, L 1.85%
B, 3.08%
Sl [t . 2000/CE/1/7
D. 564% A certain government announces that the unemployment rate has dropped but the number of unemployed has increased.
Explain why the number of unemployed can increase despite a fall in the unemployment rate. (4 marks)
2019/DSE//39 S GOTCEN
! ¢}
Which of the following results can be a negatlve number? Suppose a number of civil servants retire under the government’s voluntary retirement scheme. Explain whether this will
£ 3 increase the unemployment rate in Hong Kong. (4 marks)
A, grossi minus pot in'
2‘ toual °"1’°"31’"&’B""’)’°' cxports o 2004/CEA/T
. meney supply minus money supply ) . :
D.  employed population minus ployed populstion Give TWO losses to society caused by unemployment. (4 marks)
2020/D8E/1/24 ZO0GICRIID(C)

In the summer of last year, the growing business of many retail shops led to an increase in the employed population in Hong

24, The following table shows the employment data of Hong Kong from April to Jun in 2019, Kong. However, the unemployment rate during the same period of time remained unchanged.

1

Number of persons (*000) Explain why the unemployment rate can still remain unchanged in spite of an increase in the employed population. (4 marks)
Population 1524
2007/CE/N/3(b)(i)
gsdilojorabove 6550 Suppose these top-quality Mainland students stay and work in Hong Kong after their graduation and the total number of job
Employed persons 3871 positions in Hong Kong remains unchanged.
Unemployed persons 114 . T o
Explain how this situation would affect the unemployment rate of Hong Kong. (4 marks)
Undersmployed persons 41
According to the above data, the und ploy rate is . 2012/DSE/1/6(a)
Rising unemployment is one of the phenomena which occurs during economic recession.
Al 0.55%
2. ?g’; State TWO losses to society caused by unemployment. (2 marks)
D. 1.06%
2013/DSENI/T1(b)(iii)
2021/DSE//25 The government has launched the "Work Incentive Transport Subsidy Scheme", with the following objectives:

» 5 3 s (1) To relieve the burden of travelling expenses commuting to and from work on the part of low-income
5e
Suppose the unemployment rate of an economy is 8%. Which of the following would increase the households with employed members

unemployment rate?
e=3 (2) To promote sustained employment

(1) 15% of the new graduates could nut find jobs successfully, Applicants must meet the monthly income and asset limits of the household (e.g. for a single person, the monthly income

(2)  Some employers closed down their tocal businesses and mi‘gmmd o Dthcli countries. cannot exceed $7 300 and the assets cannot exceed $72 000) and work no less than 72 hours per month in order to apply lor
(3} Some of the part-time workers Jost their job due to automation of production. a subsidy of $600 per month,
A, (1yand (2) only Discuss the effects of the scheme on the uncmployment rate. (3 marks)
B.  (H)ond (3) only
C. €2)and (3) only
. (1), (2)and (3)
(1, (2) 64
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2015/DSE/I/5
Macau has developed rapidly in recent years and some workers in Hong Kong have been attracted to work there. Suppose
the number of job positions in Hong Kong is constant. What would be the effect of the above phenomenon on the

unemployment rate in Hong Kong? Explain your answer. (4 marks)
2016/DSE/1/6
Below are the employment data of a country.

Employed population 3 800 000

Underemploved population 800 000

Unemployed population 200 000
(a) Calculate the uncmployment rate of the country. (2 marks)
(b)  Suggest THREE losses to the sociely caused by unemployment., (3 muarks)

201 8/DSE/N/5(b)
During peak flu seasons, there is not enough medical staff in public hospitals in Hong Kong.

In order to relieve the pressure of the medical staff, the government plans to recruit retired medical staff to re-join the public
hospitals. Explain how the measure would affect the unemployment rate in Hong Kong, (4 marks)

2020/DSE/N/3

Below are the gross domestic product {GDP} data of  country.
Resl GO growth rate

N A

Vo

@) Identify the phase of business cycle which point A is in. {1 mark)
{b}  Apart fiom increasing unemployment rate, list TWO general economic phenomena which oceur at
point A, (2 xnarks)
(c) Stte TWO losses to sociery viwsed by uncmploymen. (2 marks)
o " B ' ' ' (
y S K |
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MARKING SCHEME

1994/CEAIAT 1998/CE/11/24 2003/CEA130 2008/CHAL30 2017/DSEN/2T
D A B (44%) C (63%) B (76%)
1995/CR/11/37 1998/CT/1/28 2004/CEL/33 2009/CHAY32 2019/DSEN/24
A A A(58%) C (62%) 5
1996/CE/1/33 1999/CE/11/32 2005/CEA/32 201 0/CE/1/32 201 9””‘SE"I/ 80
D A B (55%) A (61%) 0
1997/CE/1/26 2002/CE/1/29 2006/CE/11/30 2012/DSE//24 2020/DSENA
B B (49%) C (60%) D (53%) C
1125

1997/CE/1Y/55 2002/CEA/3] 2007/CEAN30 2016/DSEA25 2021/DS
B A(15%) € (33%) C (48%) D

Note: Figures in brackets indicate the percentages of candidates choosing the correct answers.

1994/CE//T0(a) i)

- GNP | / living standard |

- skill and experience of the unemployed | / productivity |

- social problems as other losses to socsety, e.g. higher crime rate, family problems (2@, max: 4)
[Mark the FIRST TWO points only.]

1995/CE/6

The newly graduated job seekers increase the labour force. [$)]
Unemployment rate (R} = [Unemployed popuiation (U) + Labour foree {L)] x 100% (1)
if' a very high proportion of the new job seekers can find a job, then the unemployment rate will decrease;  (2)
and iF quite a number of them cannot find a job, the unemployment rate will increase 2)
oR {max: 3)
whether the unemployment rate is higher or lower depends on the relative change of the labour force and the
unemploved population. (4)
OR
% change in U > % change inL = R 1 )
% change in U <% change in L= R | (2)

2000/CEA/T

The no. of unemployed increases at a slower gate than the merease in the labour force. (4)
[ Show understanding of “unemployment rate = (no. of unemployed + labour force) « 100%™ without other elaboration
- max; 1 mark]

2003/CE/V6

The unemployment rate would increase, because (1
an increase in the number of retired persons would not change the unemployed population, (1
but would reduce the size of labour force / employed population. (1)

Since unemployment rate = unemployed population + labour force
OoR
= unemployed population + (employed population + unemployed population), (1)
the unemployment rate would increase.
{Mere mentioning of the formula of unemployment rate - max: 1 mark]

66

* Provided by dse'tife




= O s T e I T o e T T T I T, B B |

Matroeconomics by Tople
2. Unemplayment & irflatan
2004/CE//7
- productive resources will be left dle / ontput level will be lower
- political disorder / social unrest
- foss of skiils (2@, max: 4)
{Mark the FIRST TWO points only.]

2006/CE/N/He)

Unemployment rate = {unemployed population — labour force) x 100%% (h
The unemployed population increased, and (1
both the labour force and the unemployed population mcreased at the same rate / percentage. {2)

2007/CEN/8(D)(1)
Total labour force increases. H
Unemployed population increases. {H
(Given total employment remains unchanged,)
increase in total fabour force = merease in unemployed populanion
OR % increase in the unemployed population > % increase in the labour force H
As a result. unemployment rate increases. )

2012/DSE/11/6(a)

- loss of output

- loss of human capital

- political unrest (1@, max: 2)
[Mark the FIRST TWO points only.]

2013/DSEAVT(b)(1DH

The effect on the unemployment rate is uncertain.

The size of the labour force would increase as more people originally outside the labour force are induced to look for jobs.
But the total number of unemployed may also increase as some of these new workers may fail to get a job. The resulting rate
af unemployment depends on the percentage inerease in the unemployed population relative to that in the labour force.  (3)

2015/DSE/M/5

Unemployment rate = (number of unemployed + total labour force) x 100%

Since both total labour foree and number of unemployed drop by gn sgual amount, the percentage deerease in the
unemployed population is greater than the percentage decrease in the total labour force, implying a reduction in the
unemployment rate. 4
2016/DSE/N/G

(a) The unemployment rate = [200 000 / (3 800 000 + 200 000)] x 100% = 5% (2)

(b) - loss of output
- Joss of human capital
- political and social unrest (1@, max: 3)
[Mark the FIRST THREE points only.]

2018/DSEAT/S(b)

Unemployment rate = (number of unemployed people / the total labowr foree) < 100%

The number of unemployed people will not change while the labour force increases as the retired staft is not in the labour
force originatly. The unemployment rate will drop. “

67

2020/DSE/T/3

3a Recession (1 mark )

b. Decrease of inflation rate
Lower RGDP growth rate
Decrease of consumption and investment confidence (2 marks )

¢. Loss of human capital
Loss of real outpul
Social unrest (2 marks )
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2.2 THE GENERAL PRICE LEVEL 1994/CE/11/20

The following diagram shows the percentage increase in the nominal wages of workers in the manufacturing and the service
sectors of an economy
Multiple Chojce (uestions

Percent
o T
1991/CE/11/46 o '
What will happen when there is inflation? 1
S . 16— AN~
A, The cost of living will fall, 15 // = .
B.  The budget deficit will decrease. i / ~4 Manufucturing
C.  The living standard will improve. / ey e
D. The value of money will decrease i d \
h Y i 12 / —/1 - = = Serice sector
i /
b = /
10— =
1991/CE/11/48 9
Unexpected inflation will P
7 Year
(11 increase government revenue 1986 e 1988 989 1% 1991 b
(2) encourage exports.
i3) redistribute income, The above diagram shows that in the period 1986-92,

(4) cause an inflow of short-term capital.

A. manufacturing workers received higher total earnings than workers in the service sector.
A. (1) and (2) only B.  manufacturing workers had lower average labour productivity than workers in the service sector
B. (1)and (3)only C.  if the inflation rate were below 10%, then real wages of workers in both sectors increased.
C. (2)and (4) only D. there was a shortage of workers in the service sector.
D. (3)and (4) only
1994/CE/11/34
1991/CE/11/50 For Question No. 34, consider the following data of an economy producing only bread and shirts:
[ Year [ 1990 [ 1991 ]
[ Consumer price index [ 100 | 125 | Price in 1992 Price in 1993 Output in 1993
($) ($) {units)
According to the table above, which of the following statements is true? Bread 10 12 50
Shirts 20 25 20
A, The cost of living was lower in 1990.
B. The standard of living was lower in 1990, The rate of inflation from 1992 to 1993 calculated by using the GNP deflator is:
C.  The purchasing power of money was higher in 1991.
D.  The consumption expenditure was higher in 1991, A 182% B. 222%
C. 333% D. 1222%
1993/CE/11/42
November 1991 November 1992 1994/CE//38
Consumer Price Index (A) 117.7 128.5 Who will lose during an unanticipated intlation?
Consumer Price Index (C) 1187 129.9
A. Mrs Lee, who has hired a Filipino maid
The above table compares the indexes for November 1951 and November 1992 It shows that in November 1992, the B.  Mr Chan, who has bought ten coupons which can be exchanged for cakes at a bakery
of the higher income group increased at a rate than that of the lower income group. C. Mr Fu, who runs a restaurant
D.  Mr Wong, who has put all his money in his time deposit account
A. standard of living ...... faster
B. standard of living ...... slower
C.  costofliving ...... faster 1995/CE/1/33
D.  cost of living ... slower [ vear | 1994 [ 1995 |
| GDP deflator [0 | 132 |
Based on the above data, we may conclude that from 1994 to 1995, the economy’s
A.  nominal GDP increased by 12%.
B. real GDP increased by 10%.
C. rate of deflation was 12%.
D. general price leve! increased by 10%.
68 69
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1995/CE/11/36
Which of the following people will gain in times of unexpected inflation?

(1) holders of long-term government bonds

(2) holders of certificates of deposits

(3) those who have used credit cards to buy goods

(4) shareholders of companies which have issued long-term fixed-interest debentures

A, (1)and (2) only
B.  (1)and (4) only
C. (2)and (3) only
D. (3)and (4) only
1996/CE/11/32

Study the following information about Country X:

Year Nominal national income Price index
($mn)

1988 8 000 100

1989 10 000 120

Comparing the year 1988 with 1889, we can conclude that

A, the cost of living increased by 20% in 1989.

B. the living standard in 1989 is gencrally higher.

C. the real GNP growth rate in 1989 is 25%.

D. the price of all goods and services increased by 20% in 1989.
1997/CE/M1/25

PRICE INDICES FOR SELEGTED POPULAR
RESIDENTIAL DEVELOPMENTS IN HONG KONG
(7192 10 12/92=100)

FEARA S NN E MR R N FMANME S AN TN ML S
! 96

Source : NV.E. Asian Quarterly, Standard Chartered, October 1996

The above graph shows that in the first half of 1996,

the high price of housing had led to a low consumption of the citizens.

the living standard of Hong Kong people had improved.

Hong Kong’s property market was on the upswing.

there was a lot of speculative activities in the property market of Hong Kong.

vOow>
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Trend of Consumer Price Index

i 4.9.%inAugusl.
N R -

Growth =
raic (%)

0 T T T T ¥
lm;mh/ymr 108 1295 HEF 4% 6% A

Source : {long Kong fconomic Times

The above data reflects that during this period,

A.  the consumption power of the people became weaker
B. the economy was on a downswing,

C.  the people consumed less but saved more.

D. the increase in the cost of living had slowed down.

1997/CE/I/31

An increase in the GDP deflator from 100 to 110 in a certain year means that

vom»>

1999/CE/N1/33

every household’s cost of living has increased by 10%.

the general price level has increased by 10%.

the prices of all goods produced in the current year have increased by 10%.
people’s nominal incomes have increased by 10%.

Study the figure below concerning the changes in the Consumer Price Index.

N Composite Consumer Price Index
% {annual rate of increase)

- N s W

N I SR .. manthiyear

8 2 3 4 5 6§ 7T 8 % 10

0

Form the figure, we can conclude that

A
B
(¢
D

Inflation has stopped as prices go down.

Wages have decreased.

The cost of living has been rising at a slower rate.

Some debtors who purchased mortgages on flats recently have suffered a loss.
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2000/CE/I/39

Mr A borrows maney from a bank for a housing mortgage at a fixed interest rate of 7% p.a. After that the general price level
falls continuousty. In this event, Mr A loses and the bank gains. This is because.

The value of the mortgaged house has been falling,

Mr A’s wage income has been falling

The bank can sell the house if Mr A fails to repay the loan.

When the general price level keeps on falling, the purchasing power of a fixed amount of interest will increase.

Cawp

2001/CE/TI/31

Chart 1 Movements of the Composite Consumer Price Index
Percent

Year-on-year rate of change
in the Composite CPI

s
4
b
2
. a
[

Jul Oct Jan Apr Jut Oct Jan Apr Jut
1998 1999 2000

Based on the data in Chart 1, under what situation would Mr Chan have gained from July 1999 to July 20007

A Before that period of time he had already borrowed a sum of money from a bank at a fixed interest rate.
B.  His salary remained unchanged during that period of time.
C. Headjusted the rental charge to his tenant in a rental property according to the change in price level.
D. He had a collection of antique vases.
2001/CE/11/32

Refer to the following data about an ecanomy.

[ Year | | Year 2 |
| GDP deflator | 150 | 180 |

We can conclude that form Year | to Year 2,

A, the purchasing power of money has decreased.

B. the real national income has decreased.

C.  the average standard of living has gone down.

D. the income distribution has become more uneven.

2005/CEM/33
Which of the following would gain when unexpected inflation occurs?

A, holders of fixed deposits with banks

B. employees whose salaries are adjusted according to inflation
C.  people who receive a fixed amount of unemployment benefits
D. agovernment which has issued bonds at fixed interest rates
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2005/CE/11/34
Refer to the following diagram about the GDP deflator of Hong Kong from January 2000 to September 2004.

GDP Deflator

103 —

8
2000 Jan 2004 Sept

Source: Hong Kong SAR Government

Based on the above diagram, we can conclude that during this period,

A, the nominal GDP was decreasing.

B. the real GDP was decreasing.

C.  the cost of living was increasing.

D.  the purchasing power of money was increasing.
2006/CE/11/31

The Consumer Price Index (A) of Hong Kong in the third quarter of 2005 has increased. This means that
Kong has increased.

in Hong

A. the price of all goods

B. the price of imported goods

C.  the nominal national income

D.  the cost of living
2007/CE/11/33

Which of the following statements about inflation is correct?
A. A continuous increase in the price of a good is not inflation.
During inflation, everyone suffers to the same extent.

B
C. During inflation, incomes and prices increase at the same rate.
D. Inflation may benefit some people, particularly those people whose incomes are fixed.
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2007/CE/N1/34
Refer to the following information about the composite consumer price index of Hong Kong.
103.0 —— —
: /—’!
= 1025 > o
: —
102.0 sl
P g
E
g 1013 /
8 Vil
2 1010
g
E 1005
§]
100.0 T
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2006

Based on the above information, we can conclude that during this period in 2006,

A.  the nominal GDP was falling

B. the nommal GDP was increasing

C  the purchasing power of money was falling

D. the purchasing power of money was increasing.
2008/CE/MI/31

Which of the following would lose during an unexpected inflation?

a tenant who has signed a fixed rental contract before the unexpected inflation occurs

an employer who has fixed the wage payment to his employees before the unexpected inflation accurs

a creditor who has loaned out a sum of money at a fixed interest rate before the unexpected inflation occurs
an insurer who is paying compensation, the amount of which was fixed before the unexpected inflation occurs

vow>

2AKR/CEANA3

Year | Consumer Price Index (A)
2004 99.3
2003 100.3
2006 102.1

Based on the above table, we can conclude that during this period of time,

A.  the per capita nominal GDP has increased.

B. the living standard has worsened.

C.  the cost of living has increased

D. All of the above are correct
2009/CE/11/33

When inflation is expected,

(1) creditors will charge the debtors a higher nominal interest rate.
(2)  waorkers will request for a raise in their nominal wage rates.
(3) people will tend to hold more monetary assets instead of real assets.

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and (3)

Taws
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2009/CE/1/34
When the consumer price index of an economy increases from 100 to 110, it implies that

A, the prices of all consumer goads involved in the calculation of the index have increased by 10%
B. the cost of living has increased.
C. the standard of living has increased.
D people’s nominal income has increased.
2012/DSE//32

The US government has accumulated a huge amount of debt, about US$14 trillion in 2011, If there ts unexpcected inflation in
the US, which of the following parties will most likely gain?

A.  Hong Kong residents holding cash in Hong Kong dollars under the linked exchange rate system
B. US citizens holding time deposits

C.  countries holding a large amount of US government bonds, like China and Japan

D  the US government

2013/DSE/1/34
Which of the following people will benefil from unanticipated inflation?

A, Aloan shark who lends out a sum of money at a floating interest rate

B. A manager who receives a fixed salary with the period of a two-year contract

C. A flat-owner who repays a fixed-rate mortgage loan

D, Aretired teacher who recetves dividends from various listed companies
2014/DSE/I/40

Which of the following statements about inflation is/are correct?

(1) Inflation occurs when the government handouts a targe sum of cash to every citizen in a certain year
(2) Inflation redistributes wealth from lenders to debtors if it is anticipated.
(3) People prefer holding real assets to cash under expected inflation.

A, (1)only

B. (2)only

C. (3)only

D. (1).(2)and 3)
2015/DSEN/36

When unanticipated deflation occurs, which of the following people will lose?

people paying a fixed amount of rental payment

people receiving interest from their savings deposits
people repaying a mortgage loan at a floating interest rate
people working under a fixed nominal wage contract

gow>
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2016/DSL/1/24
Study the diagram below.

Change.in GDP deflator (%)

35
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The diagram shows that during the period from October 2014 to July 2015,

onw>

the nominal GDP was falling.

the purchasing power of money was increasing.

the growth rate of real GDP was higher than that of nominal GDP,

the nominal interest rate was higher than the realised real interest rate.

2016/DSE/N/37
Which of the following people will gain in times of unexpected deflation?

(1) holders of i-bonds issued by the Hong Kong Government
(2) flat owners repaying tloating rate mortgage loans
(3) pensioners receiving fixed pensions

A, (D) and (2) only
B.  (1)and (3) only
C. (2)and (3) only
D. (1), (2)and (3)
2017/DSE/1/34

When there is unexpected inflation, which of the following individnal(s) will Jose?

CRcE- TS

A firm owner paying his workers a fixed wage
A flat owner charging a rental with adjustment according to the change in price level
A retired civil servant receiving a fixed monthly pension

All of the above individuals will lose becaunse the purchasing power of money will be lower.
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Short & Stryctured Questions

1990/CE/1/3 (b))

Explain whether the following persons would gain or lose in times of inflation:
(1) abusinessman who has borrowed moncy from a bank at a fixed interest rate

(1) a landlord whose premises have already been lel at a fixed rent for the coming two years
(6 marks)

1993/CE/I/1(c)
Explain whether “Yummy Yummy” will gain or lose if inflation occurs unexpectedly after

() it has signed a contract with a hospital to supply a standardized lunch package to the patients at a fixed price for a year.

(ii) it has deposited a sum of money with a bank at a fixed interest rate.
(6 marks)

1998/CE/1/1(a)
Define “inflation’ (2 marks}

1999/CE/1/11(c)
Some taxi-drivers buy taxis by borrowing from banks. If the general price level goes down unexpectedly, explain under what
circumstances these taxi-drivers will

(1) lose.
(if) have no gain or loss.
(6 marks)

2001/CEM/9(d)

“If an import tax is introduced on all imports to Hong Kong, it would affect Hong Kong’s general price level but would not
necessarily lead to inflation in Hong Kong.” Explain why this statement is correct. (5 marks)
2003/CE/M/9(c)

Explain whether the following persons would gain or lose in times of unexpected deflation,

(i)  Suppose an individnal has borrowed a housing mortgage loan from a bank at a fixed interest rate.

(i) Suppose a retired civil servant receives a lixed monthly pension from (he government.
(6 marks)

2005/CE/l/7
Answer Questions 6 and 7 by referring to the following information about the Gross Domestic Product (GDP) of Hong
Kong.

Year Implicit price Per capita GDP at
Table 1: deflator of GDP current market prices (HK$)

2001 98.1 188 835

2002 94.6 183 790

2003 89.6 179333

Suppose people did not expect any change in the price fevel. Explain whether the following persons would gain or lose when
the change in the price level indicated in Table 1 occurred.

(a) abusincssman who obtained a bank loan in 2001 at a fixed interest ratc for 2 years

(b) abusinessman whosc premises were let in 2001 at a fixed rent for 2 years
(4 marks)
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2007/CE/1/4(b)
The table below shows the gross domestic product (GDP) statistics of Hong Kong:

2019/TSE//6

Stidy Tables | and 2 and answer the following questions.

= (HK.S million] Table 1: Change in composite consumer price index (CCP!
- GDP at current GDP at constant (2000) = Year 2016 Year 2017 |
XYeas market prices market prices GDI deflator I +2.3% I +1.7% |
2003 1233 983 1390610 88.7 .
2004 1291 568 1510182 85.5 Table 2: wage rates pet hour
2005 1382052 1619984 A [ Yeur 2016 Year 2017 |
$32.5 [ §34.5 |
Suppose people did not expect any change in the price level in years 2003 to 2005, Explain whether the following persons ] A S
would gain or lose when the changes in the price level indicated in the above table occurred. (®  Basedon Table 1, state the change In the general price kevel in2017. (1 mark)
(b)  On 1 Japuary 2017, Siu Keung expected a +2.3% change of the CCP1 in that year, and he lent a sum

(i)  aretired civil servant who receives a fixed monthly pension from the government

(i) a person who borrowed a sum of money in 2003 from a bank at a fixed interest rate and repaid the loan in 2005

(6 marks)
(©

2009/CE/V/5
Refer to the following information on cconomy A.

Year Growth rate of GDP deflator

2006 +5%

2007 +4%

2008 +2%
(1)  What is inflation? (2 marks)

(b) Supposc people did not expect any change in the price level in years 2006 to 2008. In 2006, Phelps borrowed a housing
mortgage loan from a bank at a fixed interest rate. Explain whether Phelps would gain or lose when the changes
indicated in the above table occurred. (3 marks)

2012/DSEMV/ 11 (a)
Read the following news extract.

Hong Kong’s inflation rate rose to 7.9% last month - the sharpest jump in 16 pears - confirming what many

Samilies already feared as they struggle to keep up with the runaway cost of food and rent ......
What is inflation? (2 marks)
2014/DSE//5
Study the following information about an cconomy.
Year Consumer price index (CPI)
2012 120
2013 126
(a) Calculate the inflation rate in 2013, (1 mark)

(b) Explain ONE difference between using CPI and Gross Domestic Product (GDP) deflator to measure the change in the
price level. (2 marks)

(¢)  Suppose people did not expect any change in the price level from 2012 to 2013, Explain whether cach of the following
persons would gain or lose when the change in the price level in the above table occurred.

(i) In2012, Kitman borrowed a housing mortigage loan from a bank at a fixed nominal intcrest rate. (2 marks)

78

of money to Kitman at 5% interest rate per annum. On 31 December 2017, Kitman repaid the sum
plus the mterest to him. With reference to Table 1, explain whether Siu Keung would gain or lose.
. {3 marks)

Kitman has been receiving the minimum wage rate per hour. With reference to Tables | and 2,
cxplain bow her real wage rate would change in 2017. (3 marks)
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2018/DSE/N/10(b) 1999/CE/1/1 1{c)
Who, the employers or the foreign domestic helpers, will sulTer a loss if there is an unexpected inflation in the contractual iy Under fixed inlerest rates, the payment of hire and purchase remains the same.
period? Explain, (2 marks) OR
Under floating interest rates, the fall in nominal interest rate is loss than the fall in the general price level, 2)
However, the value ol payment to bank for hire purchase will increase since the purchasing power of the payment
increase. (2)
MARKING SCHEME (i)} Under floating interest rates, if the adjustment of the interest rates is fast enough to catch up with the fall in the general
price level, there will be no loss nor gain, (2)
1991/CENT/46 1995/CE/M/33 2000/CEAN39 2007/CEAM1/34 2014/DSE/1/40 2001/CE/N/9(d)
D D D C (59%) C (66%) Effect on the weneral price level
Most foodstuffs, daily necessities and industrial raw materials are imported. h
1991/CE/T/48 1995/CE/NI/36 2001/CEA1/31 2008/CE/T1/31 2015/DSE/N/36 .. introduction of the tax would Jead to arise in the general price level (1)
B D B C (69%) A(T2%)
Result in inflation?
1991/CE/I50 1996/CE/11/32 2001/CEAL/32 2008/CE/11/33 2016/DSE/M24 If the introduction of the tax only results in an gpeg-apd-for-af] rise in the general price level, then it would not bring forth an
A A A C{71%) D (37%) inflation, (3)
[Only put down the defimition of inflation as a persistent ot continuous rise in the general price level® without other
LOG3/CRA142 [997/CEN/25 2005/CE/M1/33 2009/CE/N/33 2016/DSE/N/37 claboration - max: 2 marks]
C C D (51%) A (66%) B (65%)
1994/CEA120 1997/ CEAL2T 2005/CLE/N1/34 2009/CE/1/34 2017/DSEA34 2003/CE/1/9(c)
C D D (46%) B (69%) C(85%) (1) Lose, becanse (1
the fixed amount of foan repayment and the fixed amount of Joan interest payment both have a higher porchasing
1994/CE/N/34 1997/CE/M/31 2006/CE/MI/31 2012/DSEN/32 power than that before unexpected deflation occurs. (2)
B B D(61%) D (68%}
(ii) Gain, because )
1999/CE/M/33 2007/CEM33 2013/DSE/1/34 the fixed pension has a higher purchasing power than that before the unexpected deflation ocenrs, (2)
C A(35%) C(829%)
Note: Figures in brackets indicate the per ges of candidates choosing the correct answers, 2005/CE/N
(a) He would lose, because N
he repays a fixed amount of money, the purchasing power of which has increased because of unexpected deflation. (1)
F9S0/CEN3(B)(ID {b) He would gain, because [¢))]
(1) The businessman would gain, because Q)] he receives a fixed amount of money, the purchasing power of which has increased because of unexpected deflation.
the value of the loan / interest payments decreases in real terms during inflation. 2) (N
(1) The landlord would lose, because (h
the value of the rent decreases in real terms / the purchasing power of the fixed rent drops in times of inflation, (€3] 2007/CE//4{b)
The table indicates a decrease in the general price level. (2)
1993/CEN/1(e) (i) He would gain, because . (n
(1) Lose, because (H the fixed amount of pension has a higher purchasing power (in times of unexpected deflation). [0}
the real value of the receipt will decrease during inflation.
OR (i) He would lase, because . (1)
the cost of supplying the lunch package will increase during inflation. ) the real value of the repayment will increase (during unexpected deflation). [4)]
(ii} Lose, because m
the real vatue of the sum of moncy and/or the interest income will decrease during inflation. @ 2009/CE/5
(a) Inflation is a continuous rise in the general price level. )
1998/CE/N/1(a) (b)  He would gain. because (%)
A continuous rise in the general price level 2y the real value of his loan repayment will decrease. (2)
2012/DSE/N 1 1(a)
Persistent increase in the general price level (2)
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2014/DSE/N/S
(a) [(126-120)/120] x 100% = 5% (¢
(b) CPTonly includes consumer goods while GDP deflator includes both consumer goods and producer goods.
OR
(P calculates a tixed basket of goods and the weighting will be revised every 5 years while GDP deflator has variable
baskets of goods for each year. 2)
(¢) (i) Kitman would gain, because [€D]
the unexpected inflation would lower the real value (purchasing power) of the loan repayment. )

2018/DSEAL 10(b)
The foreign domestic helpers will lose under unexpected inflation, as the purchasing power of their fixed wage would drop.

2

2019/DSE/N/6

(@) Tncreased (+1.7%). [€))

() He would gain because when the actual inflation rite (1.7%) was lower than the . .(3)
expected inflation rate (2.3%), the actual real intercst rate reocived (33%) was
higher than the expected real interest rate (2.7%). OR the pusclmsing power of the
interest received was higher than expected.’

(6} Real wage rates increased becanse the increase in the nominal wage rate 62% was G)
highcr than the inflation rate 1.7%.
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2.3 BUSINESS CYCLE

Multiple Choee Questiong

1994/CE/TI/35

According to the data below, what do we call the phase of the business cycle that the economy was in 19917

Year 1989 1990 1991 1992 1993
Real GDP
arowth rate (%) 15 0.0 2.1 2.8 35

A, recovery

B. peak

C. recession

D. through
1994/CE/N1/36

During recession,

(1) the growth rate of national income is steady.

12)  the general price level begins to rise.

(3)  the unemployment rate increases.
(4) the production level declines.

A, (l)yand (2) only
B. (1)and (4) only
C. (2)and (3) only
D. (3)and (4) only
1995/CE/N1/35

Which of the following will happen in times of recession?

|1} The total demand for goods and services will decrease.
[2)  The budget deficit will decrease.

(3) The unemployment rate will increase .
(4) The balance of payments deficit will increase.

A, (1)and (3) only
B. (l1)and (4) only
C. (2)and (3) only
D. (2)and (4) only
1996/CE/1/59

Which of the following is NOT a characteristic of the phase of recession in a business cycle?

oaw>

The consumption expenditure decreases.
The investment expenditure decreases.
The unemployment rate increases.

The government suffers from fiscal deficit as her tax revenue decreases and expenditure increascs.
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1997/CE/11/30
An economy is experiencing the following: the unemployment rate is declining, prices have stopped falling and started
rising, and investment expenditure is expanding. Tt is in the phase of a business cycle.

A, recovery

B. peak

C.  recession

D. trough
1998/CE/M/27

Which of the following indicates that the economy is beginning to recover from depression?

A decreasing price level

B. increasing government fiscal deficit

C.  decreasing balance of payments deficit

D. increasing employment rate
1999/CE/M/27

In the diagram below, X is situated in a certain phase of the business cycle. Which of the following is a characteristic of the
phase?
% change in real GNP

average
growth rate
AY
J X

Year

A, The real GNP has a zero growth rate.

B.  The nominal GNP is higher than the real GNP

C.  The investment expenditure of the economy is zero.

D.  The unemployment rate is high.

1999/CE/11/28

According to the government, Hong Kony experienced a recession in 1998 because three consecutive quarters, there was

A, Anincrease in the unemployment rate.

B.  Afall in the average wage rate.

C. A fall in the general price level.

D. A negative growth rate of real gross domestic product (GDP)
2000/CE/M/37

The following phenomena are observed in an economy:

(1) Industrial output on an upward trend

(2) Increasing imports and exports

(3) Growth of retail receipts

(4) Forecast of economic growth being revised upwards.

Which phase of the business cycle is the economy in?

A, peak

B. recession
C  trough
D. recovery
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2001/CE/11/38

If Hong Kong is in the stage of recovery in the business cycle,

government expenditure will increase.

the proportion of tax revenue in total government revenue will decrease.
government revenue from direct taxes will increase.

there will be a budgetary surplus for the government.

Tows

202ICE/28

Unemployment rate

0 t t + b Year
! 2 \ 4

GDP growth rate
The information above shows that the economy is in a stage of in Year 3.
A.  recession
B. depression
C.  recovery
D. prosperity
2004/CE/11/32

When an economy is in the recovery stage,

(1) retail receipts will increase.

(2) the government will have a budget surplus.
(3) the unemployment rate will fall.

(4) the balance of payments deficit will decrease.

A, (1)yand (3) only
B. (1)and (4) only
C.  (2)and (3) only
D (2)and (4) only
2005/CE/N/31

The following is observed in an economy: the unemployment rate is decreasing, the price level is no longer falling but rising
instead, and the investment expenditure is increasing,
In which phase of the business cycle is the economy situated?

A, recovery
B.  peak

C.  recession
D. trough
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2006/CEMN27

%
Ren! GOP growth rte
ey Unemploymint fide
0 7 + Year
2003 2004 2005
According to the above information, the economy is in a stage of in 2004.

A. recovery

B. prosperity

C.  recession

D. depression
2007/CE/N1/31

In the diagram below. X is situation in a certain phase of the business cycle. Which of the following is a characteristic of this
phase?
% change in real GDP

average
R e St o= rowth rate
0 >
Year
A.  The general price level is falling.
B. The consumption expenditure is falling.
C.  The balance of payments surplus is increasing.
D. The level of investment is increasing.
2008/CE/11/29
In the stage of economic _ . the percentage change in real GDP
A, recession ...... could be negative
B. recovery ... is equal to the inflation rate
C. prosperity ... will be constant
D. depression...... will be zero
2009/CE/11/31

The following phenomena are observed in an economy:

+ Total sales value at the retail level is decreasing

¢ Bankruptcy petitions are increasing.

¢ The inflation rate is falling,

¢ The forecast of economic growth has been revised downward.

Which phase of the business cycle is the economy in?

A, peak

B. recession
C. trough

D.  recovery
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2010/CE/M/31

The following phenomena are observed in an economy:

¢ Retail receipts are increasing.

¢ The employment of the manufacturing sector 1s increasing.
+ The stock prices are increasing.
*

The forecast of the real GDP growth rate has been revised upward.

Which phase of the business cycle is the economy in?

A, peak

B. recession

C. trough

D, recovery
2010/CE/11/44

Which of the following will increase in times of economic recovery?

A, trade surplus

B.  budget deficit

C.  government expenditure

D. direct tax revenue
2013/DSE/1/33

The following phenomena are observed in an economy:

(1) The unemployment rate is increasing.
(2) The inflation rate is no longer rising but falling instead.
(3) The inventories of producers are accumulating.
(4) The forecast of economic growth is revised downward.
The economy is in the phase of a business cycle.
A, retession
B. trough
C.  recovery
D. peak
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2014/DSE//39
In the diagram below, A is situaled in a certain phase of the business cycle.

At Point A, there will be an increase in

% change n real GDP

. mverage
rowth rate

o > Year

in the economy.

(1) the labour employment level
(2) the general price level

(3) the sales of firms

(4) transfer payments

A, (1)and (2) only

B. (3)and (4) only

C. (1), (2) and (3) only

D. (1),(2),(3)and (4)
2021/DSE//39

Study the following diagram,

Percentage change in real GDP
A

average
growth rate

—» Year

Which of the following are the features of an economy when it is operating al point A?

(1
2
)]
4)

Labour supply Is increasing,

Purchasing power of money is decreasing.
Government expenditure is increasing,
Business confidence of companies is inereusing,

A {1} and {3} only
B, (yand (4} only
€. (2)and (3) only
D (2)and 4} only
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1995/CEN/T
Look at the business cycle shown below. Identify the phase which point A is in. Indicate THREE general economic
phenomena which occur in this phase.

Real gross national product growth rate

A
\ /\ Long-term
\/ \/ growth rate
o Year
(4 marks)
1995/CE/1/6(a)
Study the following data about Hong Kong,
Year on year % change in Composite consumer
Year Quarter real gross domestic Unemployment rate (%) price index
product (GDP) P
ol -5.1 44 119.2
1998 34 6.8 5.0 118.6
4t -5.7 57 116.1
1999 T -3.4 62 115.6

Tdentify the phase of business cycle the economy was in during the above period of time. Give the THREE economic
phenomena of this phase as indicated by the above data. (4 marks)

2008/CE/1/5
Refer to the business cycle shown below. Identify the phase which point A is in. Apart from the information about the real
gross domestic product (GDP) growth rate in this phase, give TWO general economic phenomena which occur in this phase.

(3 marks)
Real GDP Growth Rate
Long-term Growth Rate
A
0 > Year
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- o > - b P = [
J . < 4 ~ 4 Yo - !

2 B2 Provided By dselife




Macroeconomice by fajle
2 Uremployment & Infiation
2010/CE/N/7
Refer to the business cycle shown below.
Real GDP Growth Rate
A Long-term Growth Rate
/\ e
0 Year
(a) PointAisin the phase of the business cycle. (1 mark)

(b) Apart from the change in the real gross domestic product (GDP) growth rate, give TWO general economic phenomena
which oceur in this phase. (2 marks)

2012/DSE/N/6(b)
Rising unemployment is one of the phenomena which accurs during economic recession.

Other than rising unemployment, give TWO other economic phenomena which would occur during economic recession.
(2 marks)

2016/DSE/1/6(c)
Suppose the country is in the phase of recovery. Apart from (he reduction in uncmployment rate, give TWO genceral
cconomic phenomena during recovery. (2 marks)
MARKING SCHEME
1994/CENI/3S 1998/CE/M/27 2002/CE/1/28 2008/CE/N1/29 2014/DSE/N/39
A D A (65%) A (64%) C (60%)
1994/CE/11/36 1999/CE/M/27 2004/CEAT/32 2009/CE/131 2021/DSE/1/39
D D A (76%) B (91%) D
1995/CE/NI/35 1999/CE/11/28 2005/CE//31 2010/CE/MI/31
A D A (94%) D (89%)
1996/CENTA9 2000/CENIT 2006/CE/M27 2010/CE/M/44
D D A (87%) D (65%)
1997/CE/M/30 2001/CEAAR 2007/CEN/31 2013/DSE/1/33
A (& D (70%) A(91%)

Nate: Figures in brackety indicate the percentages of candidates choosing the correct answers.
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1995/CE/N/7

Peak / boom / cconomic prosperity [4D)
- high employment rate / low unemployment rate / full employment or close to full employment

- high consumption level / invesiment level

- high preduction level / national income fevel

- price level |/ wage rate 1

- Interest rafe | (L@, max: 3)
[Mark the FIRST THREE points only.]

)

sing unemployment rate [}
- falling cost of living h
[Mark the FIRST THREE points only.]

2008/CE/T/S

Recovery ()
- employmenl increases

- aggregate demand nercases / private consumption expenditure increases / investment increases

- peneral price level increases (1@, max: 2)
[Mark the FIRST TWO pomts only.]

2010/CE/1/
Recession / conlraction 4D
- unemployment (rate) increases

- aggregate demand decreases / private consumption expenditure decreases / investment decreases

- inflation rate decreases / deflation / general price level decreases (1, max: 2)
[Mark the FIRST TWO points only.]

2012/DSEAVG(D)

- falling or even negative real GDP growth

- low / falling inflation or cven deflation

- falling business confidence, levels of investment, consumption (1@, max: 2)
[Mark the FIRST TWO points only.]

2016/DSEANG(c)

- rising real GDP growth rate

- rising inllation / lower detlation

- rising levels of investment / consumption (1@, max: 2)
[Mark the FIRST TWO points only.]
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2.4 DISINFLATION, NOMINAL AND REAL INTEREST RATES 1999/AL/MIN 7

The inflation rate in an economy was 10% in 1996 and dropped to 5% in 1997, Which of the following must be true about
the economy in the above period?
Multiple Choice Questions

A.  There was a fall in the standard of living.
B.  There was a deflation in the year 1997.
1990/AL/I1/11 C.  There was a rise in the prices of all goods.
Which of the following statements about inflation are correct? D, None of the above.
(1) Inflation can exist in a barter economy.
(2) TIntimes of inflation, income will be redistributed from the general public to the government. 1999/AL/I/18
(3) 'The nominal interest rate will be greater than the real interest rate when inflation is fully anticipated. The expected inflation rate and the real rate of interest rate are 10% and 4% respectively. If the actual inflation rate turns out
(4) Inflation can be eliminated by price control. to be 9% only, the cost of holding cash is and the real rate of return on holding cash is
A (1)and (3) only A. -5% B. 4% ...-%%
B.  (1)and (4) only C 14% ... -S% D. 14% ... -10%
C. (2)and (3) only
D.  (2)and (4) only
2002/AL/11/22
The nominal interest rate and the expected inflation rate are 10% and 7% respectively. If the actual inflation rate returns out
1990/AL/1/24 to be 12%, then the realized real rate of interest will be and the real rate of return on holding cash will be
The inflation rate and the real interest rate were expected to be 5% and 4% respectively. In reality, the actual inflation rate
turned out to be 7%, What was the real interest rate?
A 2% .. -12% B. 2% -10%
A 1% B. 2% C 3% ... -12% D. 3% .. -10%
C. 3% D %%
2002/AL/11/26
1992/AL/T1/21 Study the diagram below.
If the nominal rate of interest is 10% but the real rate of interest is only 6%, the real return on holding cash will be
Growth Rate (%)
A O%. B, -4%. b
C. 6% D. -10%. N

\ Tvend of Consumer Price index
—

1993/AL/11/29 \

NS
If the sum of the real interest rate and the anticipated inflation rate is greater than the nominal interest rate, which of the \\
following will be FALSE? =
A.  Nobody likes to lend money to others. ! B - - - 3 MaathYear
B.  People want to borrow money for consumption. 100 3/00 5/00 7/60 9/00 11100 1/01 3/01
C  People want to make investments themselves, ) . )
D.  The anticipation inflation rate will fall. The diagram shows that during the period,
A, deflation cceurred.
1995/AL/11/19 B. the growth rate of money stock was greater than the growth rate of nominal output.
If the inflation rate falls and remains positive, C. the purchasmg pawer of HONEANasSine
D.  the general price level was rising
A, the economy is experiencing unemployment.
B. the price level is falling at a fixed rate.
C. the price level increases and then decreases. 2003/AL/1/21 R . . . o
D.  the price level is rising The real rate of return on holding non-interest-earning cash is positive if
: 2.
A the rate of inflation is falling.
1996/AL/I1/21 B. the interest rate is falling.
When inflation occurs, the opportunity cost of holding money is equal to C. prices are ta]llpg. ) X ) )
D. the velocity of circulation of money is falling.

A.  the nominal rate of interest.
B. the expected rate of inflation.
C.  the actual rate of inflation.
D. None of the above.
91 92
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2004/AL/NIN S
Disinflation means that

A.  the inflation rate 1s at a disequilibrium level

B. inflation destabilizes the economy.

C. the deflation rate is rising.

D. the price level is increasing at a slower rate.
2004/A1L/11/18

Suppose individuals can only choase to hold bonds or cash. The cost of holding cash is

the real interest rate because the return from holding bonds will not be affected by a change in the price level.
the real interest rate because it reflects the rate of return from investment.

the nominal interest rate because it is the return from bonds.

the nominal interest rate only when inflation rate can be accurately anticipated.

vaw»

2005/ALN22

When there is deflation,

the real interest rate will be negative.

the nominal interest rate will be negative.

the real interest rate will be higher than the nominal interest rate.
All of the above.

onw>

2006/ALTTO8
If the nominal interest rate on one-year bond is 8% and the expected inflation rate is 3%, the nominal rate of return and the
expected real rate of return of holding money are and respectively

A 0% .
C. -8%

D -8%.. .-5%

2006/AL/TI/21
The real interest rate will be higher than the nominal interest rate if

A.  the actual inflation rate is lower than the expected inflation rate.
B. the expected inflation rate is falling,

C.  the nominal interest rate is falling.

D. the price level is expected to fall,

2006/ALAN2S
Growth rate of GDP deflator (%)

L)
1 \\
3 N
: N
\ ~
Year
0 1 2 3 4 5

The above diagram shows that during the period

there is disinflation in the economy.

the growth rate of money stock is positive.
the general price level is falling.

tha etandard of living is falling

Jow»
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2008/AL/T/21
The nominal interest rate is the same as

A, the real interest rate when people expect no change in the general price level,
B. the real interest rate when the central bank holds the interest rate constant at a target level.
C.  the real return of holding monetary assets.
D the real interest rate plus the actual inflation rate.
2008/AL/1/23

When there is inflation,

net monetary debtors will gain because the real value of interest payments will fall.

the cost of holding money is the real interest rate instead of the nominal interest rate.

a positive growth rate of real income implies a positive growth rate of nominal income.
a positive nominal interest rate necessarily implies a positive real interest rate.

Snws

2010/ALA1/19

Suppose the nominal interest rate on a one-year bond is 3% and the expected deflation rate is 2%. However, the general price
level turns out to rise by 3%. The nominal rate of return and the actual real rate of return of holding the bond are

and _ respectively

A 3% 5% B. 3% 0%
C. % 5% D. 0% 0%
2011/AL/TI/18

Suppose the market rate of interest is 5% and the expected inflation rate is 3%, The opportunity cost of holding money is
and the real rate of return on holding money is

A 5% . 2% B. 2% .. -3%
C. 5%... 3% D. 5% ..-3%
2012/AL/MI/21

The nominal interest rate and the expected inflation rate are 8% and 5% respectively. If the actual inflation rate is 10%, the
real rate of return on holding cash will be

A -10% B. -8%
C. -5% D. -3%
2014/DSE//32

The nominal interest rate of a one-year bond and the expected inflation rate are 8% and 3% respectively. If the actual
inflation rate 1s 6%, then the actual real interest rate is and the actual rate of return of holding cash is

A 2% -6% B. 2% ... -8%

C. 5%.. -6% D. 5%...-8%
2015/DSE/N/31
If the nomina! interest rate is 5% and the expected inflation rate is 3%, the cost of holding money is , the nominal
return of holding money is and the expected real interest rate is

A 5% -3% ... 2% B. 5% 0% 2%

C. 8% -3% ... 3% D. 8% 0% 3%
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2018/DSE/N34
Assume thal the real interest rale is 6% and the expected inflation rale 15 3%. Tf Lhe actual inflation rate is 5%, the cost of
holding money will be

In times of inflation, suppose the nominal interest rate of a bond js higher than the expected inflation rate. If
the actual inflation rate tarns out to be higher man the sxpected inflation rate,

(1) the actual inflation rate will be bigher than the nominal interest rate of the bond. A 4% B. 6%

(2)  the expected real rate of retum of the band will be menhmthcwmalrealnm of returs, c on D 1%
(3)  the actual real rate of retam of the bond may be negative, ‘ . '
(4)  the real rate of return of holding cash will be higher than zero,

A, (Dyand (2) only
g' g; z: g; 2:3 Short & Structured Questions
D. (3)and (4)only

1994/AL/1/2

2019/DSE/H37 Explain why people reduce their cash holdings and savings deposit balances in banks when there is high inflation.

(8 marks)
Under unexpected deflation, which of the following persons will lose? 2003/AL/I/2
- (a) What is meant by deflation? Is it the same as a fall in the inflation rate (i.e., disinflation)? (2 marks)
(Iy  Ms Mok holds a time deposit of one miltion: dolars in a deposit taking company.
{2y Mr Lo receives interest from Silver Bond of which tho rafo of yetumn is linked to the inflation, subject (b) What is the relation between the nominal and real interest rates when people expect deflation? Will the nominal rate be
to & minimum return of3%. higher or lower than the real rate? (4 marks)
{3) Mr Chan signs a two-year contract with an online 'I‘V.company to subscribe 1o its sexvice by a fixed
monthiy payment,
2007/AL/M/1(a)
A (Donly Name one simifarity and one difference between the terms in each of the following pairs:
B. (2 only : deflation; disinflation. (3 marks)
C. @Gonly

D. (ad(3)a
uly 2012/DSEM/ 11 (a)
To relieve the effect of inflation on citizens, the government has issued inflation-linked bonds (ibonds) with interest paid to
bondholders every six months. The interest rate is positively related to the actual inflation rate of the last hall-year period.

2020/DSE/N/ 34
¢) What is the opportunity cost of holding cash instead of ibonds? 2 marks
When there is unexpected inflation, which of the following persons will gain? () RROTRIIIEY 8 ( )
in how i Id reli he effect of i i ir holders. 2 mark
A alandlord who adjusts his rontal acconding to the price index (d) Explain how ibonds would relieve the effect of inflation on their holders (2 marks)
B, acreditor whe has foaned out a sum of money at a floating interest tate
C.  an employer who signs a fixed nominal wage contract with his employess 2013/DSEN/3
D aretired civil servant wha receives a fixed monthly pension (a) What is the relationship between nominal interest rate and real interest rate? (2 marks)

(b) “When there is actual detlation, the nominal interest rate will be lower than the real interest rate.” Do you agree?
Explain. (3 marks)

2014/DSE/MN/5(c)(ii)
Study the following information about an economy.

Yecar Consumer price index (CPT)
2012 120
2013 126

Suppose people did not expect any change in the price level from 2012 to 2013, Explain whether each of the lollowing
persons would gain or lose when the change in the price level in the above table occurred.

(ii) In2012, Marlene invested in a project with an expected nominal rate of return ot 12% per year. In 2013, she discovered
that the actual nominal rate of return was 15% per year. (3 marks)
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2020/DSE/I/5a

(a) What is the opportunity cost of holding meney? Explain.

Magroeconomics by Topic
& Unemployrent & inflation

MARKING SCHEME

1990/AL/MIA | 1996/ AL/1/21 2003/AL/M121 2006/AL/1/21 201H/ALNIAS
C A C D (50%) D(G67%)
1990/AL/11/24 1999/ AL/ T 2004/ALMIN S 2006/AL/T23 2012/ALM1/21
B D D (71%) A{66%) A(62%)
1992/ALMI21 1999/AL/I/ 18 200HAL/TIAR 2008/AL/TI21 2014/DSEN/32
B G C{(33%) A (66%) A{(37%)
1993/ALA429 2002/ALA122 2005/A1./11/22 2008/A1/11723 2015/DSENAL
D A(47%) C{73%) C (33%;) B (52%)
1995/A1/0/19 2002/ALM26 2006/A1/11/08 2010/AL/1119 2018/DSE/N34
D D (39%) A (26%) B (61%) C (39%)
2019/DSE/I/32 Note: Figures in brackets indicate the per ges of candidates choosing the correct answers.
C 2019/DSEN3T 2020/DSEA/34
c €

1994/ALA2

Whether an asset will be held depends on its real rate of returns which equals nominal rate minus the inflation rate. The
nominal inlcrest returns to cash holding is zero. With high inflation rate, the real rate of return is *very’ negative, which
explains why people reduce cash bolding.

Though interests are paid on saving deposits, the rate is usually less than the inflation rate. This is particularly so if the
inflation rate is high. Thus the real rate of returns to saving balances is still negative. People will switch to other assets with
positive real rates.

2003/ALAI2
(2) Deflation (or negative inflation} is a sustained fall in the general price level.
Dismflation is a reduction in the inflation rate (i.c.. a slawer rise i the general price level)

(b} Accordmg to the Fisher equation, the nominal interest rate is equal to the sum of the real interest rate and the gxpected
inflation rate.
Since expected deflation equals the negative of expected mflation, we can express the nominal rate as the real rate fess
expected deflation. Hence, the real rate will exceed the nominal rale when people expect delflation,

2007/ALTV {a)

§8: Change in the general price level over time,

D: Negative inflation (sustained fall in the price level) vs. reduction i the inflation rate (sustained increase in the price
level at a slower rate).

2012/DSE/ 1 (a)
(¢)  The opportunily cost is the pomingl retuen of the ibonds. (2)

() The ibouds help preserve the purchasing power of the invested sum of money because the interest return of ibonds will
increase at the same rate as actual inflation (i.e. the real interest rate on ibonds is virtually fixed by the government). (2)
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2043/DSEANS
(a) Nominal interest rate (R) = expected inflation rate + real interest rate (1} (2)

not imply that the detlation 1s expected.

OR
Yes, because people may expect deflation beforehand and an expected deflation will result in a nominal interest rate
being lower than real interest rate

OR
Yes, because the realized (actual) real interest rate will be higher than the nominal interest rate when there is actual
deflation. 3)

2014/DSEALS(c)(i)

Marlene would lose, because [$)]
given the 15% rate of actual nominal return and the 5% rate of actual inflation, her actual real rate of return squals 10%
(= 15% - 5%), which falls short of her expected real rate of return (12%). 2y

20Z0/DSENT S8

5 a. Nominal interest rate. Since money is an non income generating asset { nominal retwmn = 0 ), holding money will give up
nommal interest rate as income.

b) During inflation , the real value / purchasing power will decrease of the conpon.

Or
The coupon is not generally acceptable as medium of exchange,
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